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2.

Please do not open this Question
Booklet until you are told to do so.

Candidate must fill up the necessary
information in the space provided
on the OMR Answer Sheet before
commencement of the test.

For marking the correct answer,
darken one circle by black or blue ball-
point pen only. Please do not mark on
more than one circle. Darkenmg on
more than one ciftle against:an answer
will be treated as wrong answer.

Do not detach any leaf from this
Question Booklet. After the examina-

-tion, hand over.separately the entire

Question Booklet and Answer Sheet to
the Room' Invxgﬂator '

Each question catries 2 marks. There

answer,

" is no negative markmg for: any wrong

Possession and use of .Calculator,
Mobile Phone and Pager is prohxbxted
in the Examination Hall.

For any discrepancy in the translated
version of any question in Hindi, the
English version of the question will be
valid. -

You should return the " Question
Booklet to the Invigilator gt the end
of the examination and should not
carry any paper with you outside the
Examination Hall.
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1. Match List-l1 (Scientists) with
, (Associated wzth) and -
.. sglect the correct answer usmg:

~ List-1I

" the code given below the Lists :

(Scientists)
A. L. D. Baver

- List-I List-II
(Associated with)

1. Crop logging
technique-

proy

Pty y

2. Match List-l (Instrument) with

List-Il. (Used to measure) and
select the correct answer using
_ the code given below the Lists :

List-I
(Instrument)

A. Tensiometer

B. Piezometer

List-1I

(Used to measure)

1.

2.

Matrix sﬁction
in the soil
Temperature

B. H. F.
~ Clements

C. E. John.
Russel

Shoemaker

"Code :
(a) A

®) A

¢ A _

‘(d)‘ A

/2-B

. Soil physics

. Buffer method
for determining o
_ lime require-
" ment of soils

."'Rothamsted
experimental
‘station,
-Harpenden
C D

4 .
c D
3 4
C D

3 -
C D

3

C. Psychrometer 3. Rate of water

)

entry into the
, - soil
D. Infiltrometer 4. Water pressure
‘ " in the soil
Code : . |
(@ A B C D
1 4 -2 3
A B C D
2 3 "1 4
f© A B C D
1 4 3 2
d A B C D
-4 1 2 3

The half-life 6f U-238 is 4-5x10°
- years. If the geological age of the
~earth is

2-5x107  years

. apprommately, then the amount

of original supply of U-238 that
has = disappeared due  to
radioactive decay is

{a) -10%

). 25%

@ 50%

) 5%
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4.

Which of -the-fgilewing pairs are
correctly matched? .

1. Ammonium i+ Acidic’

. 2.

sulphate v SR
Calcium . Neutral
ammonium L

“nitrate.

Potassium  : Basic °

nitrate. .

/2-B

Select the correct answer using
the code glven below

| Code N o
{a) 1 and 2 only

(b) 2 and 3 only
() 1 and 3 only

() 1,2and 3

Potato is an iﬁdicator plant for
which one of the following soil
deficiencies?

(a) Potassiumf\
(b) Calcium *
(c) Nitrogen

(d) Phospho_rus

Wh1ch of the followmg bio-
chémical ; mechamsms - are
associated ‘with photosynthes1s?

1. A given amount of light
supplied in short flashes
separated by dark periods
increases photosynthetic
yield when compared to
uninterrupted supply of light
of same intensity

2. When continuous light is
- supplied, the rate of
. photosynthesis is limited by
dark reaction
3. Two thousand chlorophyll
* units are involved in the
“fixation or reduction of one
-melecule of CO,

T

4. Photosynthesis consists of

“two (cyclic and non-cyclic)

~ photochemical reactions and
the major ' function  is" to
produce ATP

Select the correct answer using
the code given below :

Code :

(@) 1, 2, 3 and 4
(b) 1, 2 and 3 only
~{¢) 3 and 4 only
- (d) ‘1, 2 and 4 only

. Isogenic lines are

(a) lines identical in pheno-
type but having different
genotypes

(b) homozygous lines devel-

oped through continuous

inbreeding

(c) | genotypically and pheno-
typically identical lines

(d) lines identical in genotype
except for one gene

A B P ST YR i W 4 W AR OO AT 7

A X R o MR R

¥

Ol £ e A

P




4.

Pt gt & @ -2 i &
2, Hfcwam sy Tgge : SeA
3. tﬁ%&mm&zm

T T TR WO W I

/2-B

(a) Faa 1 AR 2

(b) ¥ 2 3R 3

(c) Faa 13
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8. Tristeza is a viral disease of

/2-B

(a) sugarcane

() grapes -
() citrus

(d) peaches

Consider the following Sféges :
1. Landing of the inoéultum
2. Penetration 7

3. Estabhshment and sporula—

tion
4. Recognition . ' = -

5. Germination

The correct sequence of these

stages in pathogenesis in-a host
‘plant by its fungal pathogen is

(@ 1, 2,3, 4,15
) 1,5, 4,2, 3
() 1,2,53,4

10. Wthh one of the following pairs

11.

12.

. ;,self-defence
are known as

is not correctly matched?

(a) Ear cockle : Anguma tritice

of wheat‘

(b} Udbatta : Ephelis oryzae
disease ‘
of rice ’

(c) Molya : Aphelenchoides
disease besseyi
of barley

(d) Ei'got of : .Claviceps
bajra " microcephala

Which one of the following pests

is generally recognised as a pest

of national importance?

“(a) ‘White: grub

(b) Heliothis drmigera =
(C) Whiteﬂy

(d) Spodoptera

In some plants, new fungitoxic
substances are produced in
response to fungal infection or
mechanical injury as a tool of
Such substances

(a) auxins

(b} enzymes

(C) chlorogemc and feluric acids

(d) phytoalexins
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@ 1,2, 34,5

@) 1,5,4,2,3

() 1,2,5,3, 4

@ 1,5,2,4,3
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13.

14.

15.

/2-B

‘In -India,-

‘Consider the  following &Seases
of potato : tkE

1. - Powdery scab

2. Golderi neihatode
3.. Wart of .potato
4. Black scurf

: embargo - is  not
applicable in respect of

(a) 1, 2 and 3.

) .2, 3 and 4

(c) 1 and 4

(d 2 and3 ¢

Which one of the following
manually operated hydraulic
sprayers is most suitable for
spraying trees and tall field
crops?

(a) Knapsack sprayer
(b) Pedal pumpk
(c) Rocker sprayer ‘

() Stlrrup pump.

Pesticides are: better- applied to
field crops

(@) in the morning only

(b) in the evening only '

(c) either in the morning or in

" the evening

(d) in the aftemoon and in the
evening

Y

16.

17.

18.

Consider the  following “‘events
in the economic development of
India :

1. Cooperative Movement

2. Integrated Rural Develop-
ment Programme

3. Land Reforms

4, Nationalisation of Banks
The correct chronological
sequence of these events is :

(@ 3,1, 4, 2 .

) 1,3, 2, 4.

¢ 1,3,4,2

d 3, 1,24

Which one of the following is the
most important factor to be

_taken into consideration while

dividing the country into different
agro-ecolog1cal zones?

(a) Equahsatxon of geographlcal
area of the country

(b) Equalisation of population of

the country

(c) Output of d1fferent crops
~ grown in'the area

(d) Soil and climatic conditions
of the area suitable for
different crops

The least cost combination of

inputs is possible, when _
AX, Px, = AX, Py

@ = ) >
AX, ;ng, AX o Py,
AX, Px AX

() F-=7>(d —+=0
AX, le AX,.
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19. The input

20.

and output  are
related as

Y=a+bX +eX?
Which one of the following
production functions is related to
this equation?
(@) Spillman
(b) Quadratic -
(c) Square root

(d) Cobb-Douglas

select the correct answer using

- . the code given below the Lists: :

List-1 Lisetr
Isoquant:: . 1. Maximum
. Ridge'line ' 2. Budget |
Zero-marginal ;. 3. Zero-marginal
. product ra_.te of
A -+ substitution
Isocost’line . = 4. Least cost
L ' combination
Code :
(@) A B C D
- 4 1.8 2
) A B C D
‘ 2 3 1 4
(g A B C D
4 3 1 2
@ A B C D
2 1 3 4

/2-B

Match List-I with List-II and

10

21.

22.

The V,conceptof farming system is
best explained by

(a) Sectoral planning approach

(b) Mixed farming approach

(c) Holistic farming approach

(d) Diversified farming approach

Which  one of the following
pairs of States plays the most
significant role in plantation

farming?

(a) Andhra Pradesh and Tamil
Nadu '

(b) Kerala and Tamil Nadu

23.

(c) Kerala and Andhra Pradesh

(d) Karnataka and Kerala

Consider the following crbps :
1. Wheat

2. Groundnut.

3. Rice |

4. Soybean

The correct sequence of these

crops in - terms of 'increasing
order of their protein content is

(@ 1, 3,

®) 3, 1,

2, 4
4,2
© 31,2 4
4, 2

d 1,3,

H
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20.

/2-B
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24, Which one of the following wheat
types ranks next to common
bread wheat in terms of the total
cropped area in India?

25.

N

/2-B

(@) Triticum aestivum
(b) Triticum durum

(c) Triticum dicoccum

. Nitrogen

(d) Triticum spheroéoccum = \

Which of the following pairs
of nutrients

"and deficiency

symptoms in .nce are correctly

" matched?

Zinc
Iron

Sulphur :

: Yellowing of older
leaves )

. Interveinal chlérosis

: Dwarfing and tip

- drying |

Yellowing of youhgér
leaves

‘Select the correct answer using
the code given below :

“Code :

| @ 1and2

- (b) 2 and 3

(c) 3 and 4

(d 1 and 4

12

26. Consider

27.

28.

the
compounds :

1. Calcium carbonate

following

2. Magnesmm carbonate
3. Calc;um hydroxide
4. Magnesium hydroxide

Limestone consists of

(@) 2 and 3
(b)
() 3 and 4

1 and 2

“(d) 1 and 4

What is the correct proportion
of seed rate of wheat (W) and
gram (G) for mixed sowing under

(@) W-80; G-20
(b) -W-60; G-40
(c) W-55; G-45
(d) W-50; G-50

In the

inadequate irrigation condition? '

universal soil-loss |
equation
A = RKLSP

- K stands for

* (a) slope length

(b) soil erodibility
(c) rainfall

(d) -cover and management




24. W@ ¥ 3@ G AmeE A AN 26, Pkl He W Rew Bt ;

 frefufen il 3 4 A-a L e
mfzmﬁﬁi%maﬁ»}uﬁﬁ )
o 3. %fewm TEgewiss
(@) TR o 4. tohfem
(b) RRw T - R EE
© RRww e (@) 233
y (b) 132
(d) RR#n aRwien
' c 334
d) 13K
25. G # dww ot s =g v @ 1R
frafafaa gmt & @ F9-3 ot gakma .
£ ™ w 27. saiw fafaa spett & ffm gend &
e 3 (W) 3t = (G) A e
Lkm@m:gjﬂﬁhmhmg - 27
2. SN fauRw e (@) W-80; G-20
3. @@ e sk Ddgan o (P) W60, G40
4, wuk ;=3 ufEt @ der ge (c) W-55; G-45
PO, 3 - (d) W-50; G-50
e S zs.qﬁaswgrﬁm
Fe: o " A=RKLSP
K@ aadd
(@) 132 MJﬁmﬁﬁmi
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29. Match ‘List-I (Cropj with ListI

gowy»

(Variety) and select  the correct
answer. using the code given
below the Lists : -~ =

List-IT

LLSt-—I
(Crop} © (Variety)
Radish 1. ‘Pusa Ruby
Tomato 2.  Golden Acre
Cauliflower 3. Pusa, Himani
Cabbage 4, Dania
Code : .
@@ A B C D
-3 1 4 2
) A- B C D
1 3 49 2
1 32 4
@ A B ¢ D
3.1 2 4
30. Consider = - the following
statements : ‘
1. DNA is a double-helical
molecule. o
2. The -sugar moiety in.both
DNA and RNA, has the same
chemical formula
3. DNA repl:cates . precisely
dunng cell d1v1s1on
Of these statements
fa) 1, 2 and 3 are correct
() 1 and 2 are correct
(c) 2 and 3 are, correct
a 1 and 3 are correct

14

i W

. patible crops?

‘Which one 'of the following is an

important method for achieving
self-fertilization in self-incom-

(a) Mutation
(b) Self-pollination

" () Artificial pollination

32.

(d) Bud pollina_.tion ~

Which of the following crops has
the highest cultivated area in the
world?

“(a) Rice

(b) Wheat

- {c) Barley

33.

34.

(d) Bajra.

Capac1ty of soil to resist change
in pH is

(a) CEC

(b) buffering capacity
() % base saturation
(d) AEC

Tetrazolium test is wused to

determine

' (a)v seed purity

(b) seed germination

(c) seed viability.

(d) seed quality
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'35, |
. =for deficiency of
36.

37.

38.

Sunflower i§ ‘an indicator plant

" (a) boron

~(b) iron

(c) nitrogen

(d) phosphorus

Estimates of National Inicome in
India are prepared by

{a) RBI
(b) CSO

(c) . National Income Committee

' (d) Planning Commission

Government of India signed WTO
Agreement in : '
(@) 1981

(b} 1994 -

(c) 1995
(d) 1996

Which one of the following
elements is immobile in plant?
(a) Ca
(b) Mg
(c) N

@R

39.

/2

Soybean originated from A
@ India

(b) China \.

(c) Tropical America

(d) Japan’. '~

16

41.

42.

43.

A fertilizer WhicH~=;supplies three
essential- plant nutrients is

(a) DAP -
(b)) MOP
(c) SSP-
(d) SOP

Dolomife is.
(@) CaCO 3
(b) MgSO,
(c) Ca(OH),

'(d) MgCO;-CaCO,

Black cott;m soil is rich in
{a) montmorillonite

(b) kaolinite

(c) illite

(d) chlorite

Nitrogen "‘fixation‘ in soil by
rhizobium .is increased by .

(@) P

(b} Ca ..

o fc) Mg

@ K

Which gas is. ‘;elegsed from
paddy fields?

(a) CH,
(b) Hy,S
c) CO,
(d) NHj

2R e e e
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3.

' 36.

37.

38.

39.

/2

)
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© fa) SR
(b)) A

(c) A
(d) FREHRE

mﬁuﬂam%&wmm@

for e 27

(@) 3Ro o Mo

(b) o THo 3o |
(c) A A FAR
(d) T e

R R 3 3?(-1 ao :q}o u;ﬂﬁz
wT fem o , .
(@ 1981 %
1994 #
1995 &
1996 &

(c)
@

ﬁwﬁ«r&gamﬁﬁﬁm-mmq’nﬁ
ﬁﬁsaa%?

(@) Ca

(b) Mg

(c) N

(d) P
"= 6 It gl @
(a) YA ®

b) Fd

(c) et amfw &
(d) e &
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~(d) o oo

4.1'

A1 0

(@) CaCOj3
(b) MgSO4
(c) Ca(OH),

'(d) MgCO3-CaCOj3

42,

" 43;
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LGRS

(a) W=adiEERe Hi
(b) *aEiATEE hit
(c) TR H

(d) aaﬁuszﬁ

garﬁuﬁhﬁmmmﬁmmﬁm
Tgar ¢ e am

(@) P

(b) Ca

c) Mg

@ K

um ¥ Q4 @ B-m A Freerar 37
(@) CH4 |

(b) HyS

€ CO,

(d) NHg
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--48, Black gram originated from

46.

47,
. area under fodder crops

48.

49.

/2

(d)

(a) India LT
(b) Tropical America -
(c) China '
(d) Indonesia

S
The percent of oil in linseed is

(a) 26%
(b) 36%
€ 40%
(d) 44%

India has about % cultfvated

(@) 45
(b) 75
(c) 100
(d) 150

In North India; pruhing in gré\pe
is done in the month of

(a). October - .-

(b) March

(¢) January

(d) July

)
r

Papaya is
propagated by

(@)
(b)
()

layering
cutting
budding

seed

commercially .

18

:50.

.51,

52.

§3.

54.

Country with highest export of
flowers is .. .

(a) Italy

(b) Netherlands
(c) Colombia
(d) India

Optimum seed rate of mangold.
(kg/ha) is

(@) 05

() 1'5

(c) 25 e
(d) 35 |

Which one is not a self-

pollinated ‘vegetable?
(a) Cowpea

(b) French bean’
(c) Tomato

(d) Chilli

The number of bases in the

single turn of the DNA helix is

(@) 5
(b) 7
(c) 10
(d) 12

The common form of DNA in the
living organism is

(a) A
(b) Z
() C
(d) B




45.

46.

47.

48‘

49.

/2

sﬁmmﬁwﬁrﬁmwgg%m
(@) W i
(b) ;ﬁmaﬁm
(c) A
(d) TSRRmET

el 3 e ot T B B
(@) 26%
(b) 36%

(¢} 40%

(d) 44%

et & 3 =RY HEw I S R7
(@) 45 o

() 75

" (¢) 100

(d) 150

Wﬁwaﬁ@%ﬁmwﬁﬁ
&1 et 27
(a) SR
(b) W
(c) S

(d) Eﬁé

maﬂmﬁﬁq‘mmm
S @

(a) T gRT
(b) FE TR
(c) =g
(d) €S sR
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50.

51,

o e e Fafaw 3w R
(@) T |

(b) s

(c) e

(d) Y

(Rromo/BoY8 ,
(@) 05

52.

53.

(c) 25
(d) 35

Prerfee & & -a W A

(a) e
(b) % &
(c) TR
(d) T

3°'°G°Q°%ﬁv’rw%aﬁmaz=fﬁ%aﬁ
JG B 7

(@ S

b) 7

(¢ 10

s (d) 12

54.

@ﬁo‘@oﬂ:ommm\_’ﬁﬁa@ﬁa
i

(@) A

(b) Z

¢ C

(d B

[P.T.O.




55. —— discovered X-rays. - -
" (@) Wilson ‘

56o :

§7.

58.

59,

(b) Roentgen
(c) Benzer
(d) Muller

Cryopreservation is not suitable

for preserving organisms ‘which
are '

(@) frost sensitive
(b) frost resistant
(c) aerobic

(d) anaerobic

Translocation of - carbohydrates

takes place as
(a)‘ glucose
(b) fructose
(c) sucrose
(d) maltose |

BTT is associated with

(@) rice ”

(b) wheat

(c) 'maize

(d) barley L

Tnp101ds are normally
(a) sterile

(b) fertile

(c) male sterile -

"(d) None of the above .

12

60.

61.

63.

64.

First man-made cereal is .

(a) triticale

(b) brasica. -

(c) Pomato

(d) None of the above

Highest ‘uniformity is present in
(a) double cross - R

(b) multiple cross

(¢) single cross

(d) three-way cross |

NBPGR 1s locatcd* at.

(a) Luckhow
(b) Karnal
(c) Bikaner
(d) New Delhi

DNA can be denatured - by
heating at \

(@) 72°C

(b) 86°C

(c) 90 °C

(d) 94°C

‘Which one of the following is an

insect hormone?

(a) Lindane |

(b) Ecdysone - -
(c) Chitin

(d) Allethrin

o  ———

o s gy

T g




55.

56.

57.

58.

' 59.

/2

- 1 @ e e
(@) foewm

(b) sz

() ¥R

(d) T

FrRfeETR R fefm afife %
fore e et 27

(a) Wi q=HEAY

(b) Hiwe R

(c) TUE

(d) SR

mﬁ%@%{amwﬂaﬁqtﬁm%

(o) TS

(b) TR

(c T

(d) A

fo fo Ao Wi
(@ 999
b) WE

© TEmE

d 3

(@) QU
(b) weigw
(c) T R

(@) 3§

.600

61

v 62.

veen B-As Hiwe @
(@) ok '

(b) S

(c) T
(d) e E P A

mmwrﬂm%

(a) == % &

B TAEEEE
(c) T wigd

(d) -3 e &

qq‘od:toﬁo\‘:ﬁo 31{]'{03?6?313@13%?

‘(a)m}

(b) HEA
(c) feremrR

() % g

63.

64.

o TWo To foham i %ﬁ?ﬂ form
T g 87 -

@ 72 °C

(b) 86 °C

(c) 90 °C

(@ 94 °C

P % & -an g gt &7
(@) R

) R

(¢ s

(d) .

[P.T.O.




65.

66.

68.

69.

2

67.

Higher LD 50 indicates

(@) neutral

(b) less toxic
(c) highly toxic
(d) None of the above

Transgenic-: crop - with - highest
area in world is

(a) soybean " .

~ (b) maize

(c) cotton

(d) mustard -

Gl

Optimum ~ moisture (%) for

storing wheat is -
(@) 10 |
(b) 12

(c 14

(d) 16

Photorespiration is high in
(a) maize

(b) sugarcane

(c) pineapple

(d) rice

The weakest bond is |
(a) covalent bond |
(b) van der Waals bond
(c) ionic bond o

(d) hydrogen bond

22

70.

TI.

72.

73'

74.

Stomata are regulated by
(@) N
(b) P
© K
(d) Ca

‘140 has a half-life of

(a) 14 days

(b) 100 years

(c) 5730 years |
(d) None of the above

“)

Chlorophyll is green because it
(a)i réﬂects greén light

(b) absorbs greeri light

(c) transmits green light

(d) None of the above

Nitrq.te reductase is found in
(a) chloropl'astn |

(b) Golgi bodies

(c) mitochondria

(d) cytoplasm

Protein content of pulses ranges

from

(@) 10-15%
(b) 20-25%
() 25-30%
(d) 40-45%




65’

66.

67.

68.

- 69.

/2

3= G0 Ho 50 gt &
(@) =g |

(b) A9 RS

(c) mm

(@) 3T & & T
fava & fra et g 1 ge@ S
TG 87

(@) W

(b) W&

(c) U™

(d) Tt

g voswor & fore 3fra ft witera @
Bt =fRu?

(@) 10

(b) 12

(c 14

(d) 16
w3t gt @
(a) weaT®

(b) @A

(c) FFEE #

(d) oA #

T FR e
(@) AT a8
(b) ASETH q1-8
(c) A sis
(d) TEGSH TS
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70.

71.

72.
' (a) agzﬂqmézﬁmm%'

Ra yEe dm e
(@ Ng@w
(b) P

(c) KsT

(d) Ca g

RA(ok %:rq;—w?q; B ]

(@) 14 R .
(b) 100 ¥

© 5730

(d) m{&sﬁ%ﬂ%#ﬁ
TR T g B, it

(b) T T e H T A B

(o) F& I e T g R

73.

(@) ST & & B
e st wran St B

(o) TR #

74.

(b) M ST &
(c) FErRIToa 3
@ Ay |

T § WEA T S §

(@) 10-15% ‘
(b) 20-25%

(c) 25-30%

() 40-45%

[P.T.O.




75 .

76.

77.

78.

/2 .

How many ATPs are required to
produce 1 mole = hexose in
photosynthesis?

(@) 8
(b) 18

) 28

(d) 38

Most dangerous gas for depletion
of ‘ozone’ layer is

(a) chlorine .
(b) CFC
() benzene o

(d) 002 .‘

>N1cotme is produced only in

(a) root
(b) leaf =
(c) seed

(d) stem

Blossom end rot’ is the

‘deficiency of

(a)-. Ca
(b) Mg
(¢ B

(d) Mo

79.

80.
"~ India has the hlghest wheat

"~ 81..

82.

In bamboos, which live more
than 50 years, flowering occurs

(a) only once
(b) only twice

(c) only thrice

- (d) many times

Which of the following States of

production?

(a) Punjab

- (b) Hafyana

(¢} Madhya Pradesh
(d) Uttar Pradesh

Which of the following hormones
is used for npenmg of frults'?‘

_ (a) Gibberellin
" (b) Ethylene

(c) Auxin

(d) Naphthalene acetic acid

Which of the following Indian
States has the highest area

irrigated by canals?

(a) Uttar Pradesh

(b) Haryana

_(c) Punjab

(d) Madhya Pradesh




75, W G 1 A e A
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76.

Bt 27
(@) 8
(b) 18
(c) 28
(d) 38
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(a) T
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(c) ==
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7. FHIEH et T S R

78.

(@) Sg%
(b) e &
(c) oA
(d) T

‘st e e’ Pt 0 et 27

(@ Ca

/2

(b) Mg
(c) B
(d) Mo .

79.

80.

81.

e o [ af § Rl a5

31 &7

(@) ¥TA T AR

(b) ¥ad qA AR

(c) %ﬁﬂ?ﬂ'ﬁ‘ﬂt

(d) 9Igd =R

i Preien Tt § & w
# waiften YeER At 87

() TR -

(b) R

(c) WeA oW

(d) TR W

P & & d g o
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@) PaRE

(b) TR

(c) iR

(@) Iwifem R e

. uRE ¥ fha U w1 Al A T

vl 2 27
(@) ST XRW
(b) R

(c) W=

(d) TR
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83, Pusa-1121 is a variety of

84.

85.

86.

/2

(a) wheat
(b) rice

(c) barley
(d) chickpea

In which crop, zinc deficiency is
referred to as Khaira diséase?

(a) Paddy
(b) Wheat
(c) Mustard
(d) Maize

Which of the following terms is
related to tissue culture . in
plants?

(a) Explant

(b) Scion

(c) Bud

(d) Embryo

‘Which of the following is a new

world-threat . -fungal d1sease of
wheat crop?

(@) GS-2
() UG-99
(c) Raj-3077
(d) PBW-443

36

87

89,

" 90.

Where in India, is Central
" Arid Zone Research Instltute
situated?

(a) Hyderabad

(b) .Banga.lore

(c) Jodhpur

(d) Ajmer

Which of the following is a
copper fungicide? -

' (a) Carbendazim

(b) Mancozeb
(c) Blitox -
(d) Noné of the above

Why is "n'ip'pi'ng done in

.chickpea?

(a) For gétting more number of
shoots, flowers, pods and
grain yield

(b) For encouraging reproduction

(c) For restricting growth of the
plant

(d) None of the above

Red édlbuf of tomato is due to
(a) lycopene

(b) anthocyanin

(c) chlorophyll

(d) None of the above

<y
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83

84.

85.
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forem 27

(a) W

(b) o
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/2

(b) R

© W=

(d) T

2 B v H w T FER §
& e W W A
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e
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(d) 3 & | i TE
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91.

92.

‘Who is called the father of plant
pathology?

(a) Paul Berg

() Anton de Bary
(c) Needham o
(d) Norman Borlaug

Against which of the following
diseases, Bordeaux mixture was
first used?

(@) Powdery mildew of "éfape
(b) White rust of crucifers
(c) Downy mildew of grape

© (d) Rust of whggt

93.

Who discovered: microscope?
(a) Anton de Bary

" (b)) Aﬂtony ‘van' Leeuwenhoek

94,

. () Vanderplank ..

(d) None of them

‘Toxicity of which mineral causes

. crinkle leaf of cotten?

(a) Iron
(b) Copper
() Manganese

(d) Zinc

95,

127

Wthh of the followmg is called -

the king of fruits?-
(a) Banana -

(b) Mango

(c) Apple

(d) Orange '

o6

97.

Which of the following is called

the queen of spices?
(a) Black pepper
(p) Cardamom

{c) Coriander

(d) Chilli

The bearing habit of mango

fruit is

98.

99.

100.

'Whlch of the followmg

(@) regular

(b) irregular
(c) alternate

(d) None of the above

Which ' of the following is a
poisonous mushroom?
(a) Agaricus bisporus

;(b) Calocybe indica .

(c) Pleurotus sajor-caju
(d) None of the above

Rabi crop'-’
(a) Wheat
(b) Barley
{c) Rice

.‘(d} Potato -

is the

most serious ~ disease of

sugarcane?
(@) Wilt
(b) Smut
(c) Red rot
(d) Red stripe

~)

-)

-
.




- 91,
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(c) aRem
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